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Fitting with hypermet
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The choice of a good step size

« Ge02B « Uncertainty on position is good, but
o reduced chi square is not
S
g | = 661.74372 +/- 0.00077 keV

- o = 1.51404 +/- 0.00063 keV
Step = 0.00214 +/- 0.00011 keV"'

B b v b b b v b by
640 645 650 655 660 665 670 675 680

° Soa
= g L . 2
f"g. 13@\*‘""‘% vorLe LT e L
c 'V . .
S -20- PO
640 645 650 655 660 665 670 675 680
Energy (keV)

Department of Physics and Astronomy, IKS KU LEUVEN




The choice of a good step size

* Ge08  Just a bad step, or also high-energy
oo L tail?
— Gauss + Bg | " . . . .
5 e ;' ‘ll * Idea: First fit outside peak regime
S with linear + step - Fix in final fit
% Step size initially seems rather constant as a function of
i e e energy - Fix all to value of 662 keV?
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What's next?

« Continue on hypermet fitting
o Still stuck with efficiency
 Implantation at iThemba
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